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| < blown by a strong wind
. balloon at one end of a long rope 15 e
T zlrpnu;;ll:iun 980 m above a point on the ground 410 m from the

end of the rope. r =l
a) Mark the known quantities on this diagram.

Rope

E%mwﬂﬂﬁﬂ

t degree.
b) Find the angle between the rope and the ground, to the nearest degree

1 this
Let 2 Z represent the angle between the rope and the ground. Labe
angle on the di amo
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tanZ =
LZ = tan™

' abo tzl ?
P d the ound measures u .
Therefore, the angle: between the rope an ar J

is problem?
¢) What assumption did you have to make about the rope to solve this pr
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™ I‘i: | tan Z =
e 27 = tan™ ( )
F»I /7 = ) ¢ o
B T ound measures abou .
E Therefore, the angle between the rope and the gr

T b oL .
ard B

is problem?
¢) What assumption did you have to make about the rope to solve this pr

directly over a small bush, spots a mouse at an angle of 12°

3. A hawk, hovering bush, how high is the hawk?

from the vertical. If the mouse is 8.2 m from the d
Let h represent the height of the hawk. Mark h on the diagram, an

label the opposite and adjacent side for the 12° an - :
jo:ltan 12° = =R
Substitute into the formula for the tangent ratiostan 12~ = A b
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:{ ?IIS I‘iictangUIar field to the northeast corner = et comee
OW long is the di - '
metre? lagonal of the field, to the nearest [
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